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Answer-Shest carefully. You must also put your signature and PromadT & WA CITAGAE T A, W A, Rhe A
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Fart A: Ganeral inteligence and Beasaning /! 5757 & T gﬁ%mr Y FEwET
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Part A: General Intelligence and Reasoning
1) Introducing a man, a woman said “His mother is the only

daughter of my father” How is the man related to the
woman?

U 99 & IRET T 5T UF AREr o FEn, czwdy
AT A T &7 sty o & gew AfRer @ fRw

YR TEEleud #7
Al son/gF B) Father / forar
) Brother /. #75 D) Uncle / =T=T

Directions / fader: In Question nos. / X¥7 HEAT 20 7, selsct
the rolated wordileftersinumber from the given
alternatives,

T v fAweu) H & srale e s A # g
2) BLOCKED : YOLXPVW : : 7 : OZFMMXS

A} LABOURS B) LAUNNCH
C) DEBATES D) RESULTS

3) 12:72::8.7

A) 36 B) 32
C) 38 D) 40

4) FIG:EGHJFH . . BIN:?

A) ACJHMO B) CAHIMOC
C) CAJHOM Py ACHIMO
5) B:42::7:7
A) 48 B) 40
Cy 56 D) 52
6) Garbage : House : ;: Gangue ; ?

AT O HTETET 7
A) Factory / ST B) Drugs / 3ttr
C) Office / Friwa D) Ore / 37
7) DBU:EEZ::CJH:?
A) DMN B) DNM
C) DNN Dy DM M

Directions / fdfer: in Question nos. / 97 F&4TH to 13, find the
odd wordfletters/number from the given alternatives.

R v Rmeql & & e sy srmmraear gia0

8)

A Lawyer / adirer B) Legislator / fartma
C) Mayor /BT D) Govemor / Trsamer
=

A) Acute [ &= B Parallel  wwieR
C) Right/ w5 D) Obruse / 3t
10) 5
A) 50 B) 120

cf 37 D) 145
11)

A) 8B5S B) EV

¢ DX D IZ

12)

A) OKHA B) LERU

C) ERKU D) ANDI
13)

A) 200 B) 191

c) 808 D) 1331

14) Find out the number of circles in the figure.

T IS # gear f @Emr A fiie)

A) 1% B) 20
C) 16 D) 19

Directions / fRefer: In Question nos. / ¥¢7 §&3T 15 to 17, which
ane set of letlers/numbers when sequentially placed at the
gaps in the given letfer series shall complete it?

FET HEATHT FT Fle- 8T FHE WA EE 9T FHET ta &
&t araft srere @ H QI FHAT?
15) SH _ELAS _EELA_HEELASHEE A

A) HHSS B) EEHS
€) ELHA Dj CHSL

16) 12'dh_ 4123 234

A) 3212 B) 2134
C) 324] D) 1432

SKI075 /3149370
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Part A Genaral ileligence and Reasoning / JFT # SAeT FRHA 79 Ghaiag

20) In a certain code, FRACTION is written as FNATTCOR.
How is QUANTITATIVE written in that code?

el 12 & FRACTION &I ‘FNAITCOR’ & w9 # farar
srar & &t 36 F1E A QUANTITATIVE % 3 forar
FEA?

A) QTNAVIAITETU
C) QTEATUIAVITN

17) __aba_ _ ba _ab

A) abbbb
C) bbaba

B) baabb
D} abbab

18) from the given answer figures, select the one in which the
question figure is hidden/embedded.

&1 a2t Tea HTE Tt F § 3 Jee A F g
e weet T BT

<J

B] QIATAETUTNVI
D) QEAITATITNVU

21) If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure 7

Iife e 0O ST MN 18T 9T T S &1 9l 3eae
syt # & wie-r avpfar weer 3wl i @ wiafEe

. = Breim?

>l “E | sl
‘ ‘ (e by 'fl' E
| . T_%?J__I 8 =5
A) B) D) -
19) A word is represented by only one set of numbers as given in — = f———

any one of the altematives. The sets of numbers given in the | mrae || R J o — ot
alternatives are represented by two classes of alphabets as in ms 2 ': N PNl ey
two matrices given below. The columns and rows of Matrix 1 et sl o oSS NIE o ol o - R
are numbered from 0 to 4 and that of Matrix I arc numbered : [~
fram 5 to 9. A letter [rom these matrices can be represented A) B) C) D)

first by its row and next by its column, eg. A’ can he- = _ =
represented by 01, 14 etc. and ‘M’ can be represented by 22) Find the number that is common for all of the clue’s given

56,68 ctc. Similarly, you have to identify the set for the word below:

‘EAGLE". | st o oo mefr waat & T WA S AT

e 9TEZ, el Uk HAT-EHp GaTT SRl 9T &, S a) Virgo / F=T
wﬂ#mwﬁmw&ﬁwﬁﬁhm b} Volleyball / atelT &1

M~Waﬁﬁ#a‘raﬁ AT ST AT, :‘_ftmﬁ;:h%r ¢} A highest scoring shot of a particular sport / T @er 1
R 9T & IETET A B STEE | 3 TS A AT et 37 WToa e e 2ife]

dEmo A4 AU AR FEgE 1A S F o, 5 HEGE H
s e B OEw 3% F ufad 3R A & raes g
agmmﬁmmﬂma TeERUT & AT A #0114 HE
2T g2l ST ST & T M Y 56,68 3T g aain
1 T & == AE & 3y wee BT /g ‘EAGLE' &

o Wi 1 TEaetat 8]
MATRIX - | MATRIX - Il
01234 5]6[7(88]
o PAGRZ 5EMLNO
1GR ZPA (6§LEOMN
2/Z P AGR |T/ONELM
sia Rzl [8|/N[o/ME L
4RZPAG |9MLNOE

d) Extra sensory perceptions / Efeaaa FaHR|

A} 8 B) 4
c) 2 D) 6

B) 66,43,44,79,88
D) s5,14,11,78,66

A} #,22,31,89,76
G) 99,01,44,96,77

SH20TE 53140320 3 PTO



Part A Genaral Intellgence and Reasoning ! 8T & =T Jlasoed Fe SHaidT

23) Directions: Siudy the diagram given below and answer
guestion.

Ber sz Fv regger Ffarat il w7 Feaw dfET

The Qualified and experienced doctors working in villages
are represented by:-

it # SRR 3R e Haad s e v
Braar g

e EEET
. . GUALIFIED DOCTORS
Aty ) B
e | EXPERIENCE DOCTORS
¢ T i S
|/ DOCTORS WoORKING
I LLAGE

A) 4 H) s
c) 2 D) 6

24) In a certain coding system APPLE stands for ETTPL. What is
the code for *DELHI'?
oY 15 sqa e & APPLE &1 #13 ETTP §] ‘DELHI &7
THIZ T B9

A) CQMND
G) HIPLM

B) ZAHDE
D) COPLM

Directions / fdfer: In Question nos. / Xv7 H&JT 25 to 29, select
the missing number from the given responses.

BT v eyl 7 & e Her d o]

28)

4|7
?
343| 64
A) 1332 B) 1321
c) 1231 P 1331
29)
== | 6 1
Vgl A KA B
133 (1986 g\?] |
5) ™ glw '™
== 4 = 3 ——=
A) 535 B) 451
c) 702 D) 154

30) MName a single letter, which can be deleted from the body of
the fallowing words to form entirely new words?

il THE & AT 3 a9 & v Peaefaa w=Ei A 0

FI | UF HEW §2147 S Tl §7

HOST POST COST LOST STOP
A) 7 B) P
C) S D) O

Directions / &% In Question nos. / ¥77 ®&AT31 o 32, one or
fwo  statements fs  given followed by  Iwo
conclusions/assumptions, | and [l. You have to considaer
the statement to be true, even if it seems to be at varance
from commonly known facls. You are lo decide which of
the given conclusions/assumptions can definitely be
drawn from the given statement,

v AT & awaed faar gy & e st gt
fAssargard | Hivll. Fae av dame Gar @
& & gFaey He § A aF THEEEd: AT a9 &
fiimy gl glar gzt Ao #&vwar § & v av
gFdey & & a7 [T &7 & gt Feesrgar

AT ST T 8

25)
(2] 2\ ARWAE
A DASIEZANE
A) 12 B) 7
&y -12 D) 9
26) | 40 32 72 12
I 30 24 54 9
i 54 7 80 15
A) 49 B) 36
C) 46 D) 48
27)
3|' : 1&__5
[A (e +] [ s 1] [3 7]
g 3 [
A) 16 B) 12
C) a0 D) 48

SK2015/ 3145329
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Pavt A: General intefligence and Reasoning / 597 % Hramer §lasmm o5 gdei&s

31) Statement: No'rud is pod. No pud is Mexible:
qEAEd : IS TF Foll TE1 B| NS Bel) oAl 76T &
Inferences / HEIT:
1= No rod is flexible, / & T8 FTdT 767 &
11- Some pods are flexible / $&F HilAT sl &
BY Only inference I follows.

A) Both of them follows.

2t Feaar Pt § Faa Jaar | e
el
C) Only inference Il follows. D) Meither of them follows.
e "= 1l 2t # @ % A
T Prredr ¥

e 2

3z} M

A pood book even if costly is sold out in no time.

e ITE G HEAT Bl OF 3 edy e el

Assumptions /| AFFAl:

I: Some books are better than others / T GFch 34!

AT EA &

11, All good books are costly / THT 3=t GEa+ HAgal glet

8

A} Only | follows. B} Both land I follows.

Fad ATTAT | R H=gar | 3R 11 gEt

g fwear B

&} Neither [ nor II follows. D) Only II follows.
7 ®rgar | v & g i Fae AT 1
e ¥ o §

33) If CUSTOM is written as UCTSMO then how PARENT will
be written in the same code?

I CUSTOM Fr UCTSMO T#rar srar € @ PARENT &1
& o ST

A) TNERAP
C) ERAPTN

B) RAPTNE
P4 APERTN

34) In the question one part of the problem figure is subtracted.
Select the option that shows the correct shape by the
subtraction.

T WeeT H W HRRFar o1 Uk 89T HeaT R a1 B O
TraeT AT S W FIA F &g TE FT S

N

35) Two position of dice are shown below. When three is at the
top what number will be at the bottom .

A= o o Y 2 R gy e fufe s dear ar
#Arer sl T gy

|

) (B 4 |

:" 2 ':- 2 ‘
A) S B) |
2) 4 D) 2

36) If ‘air’ is called ‘green’, green is called “blue’, *blue’ is called |
‘eky’, ‘sky’ is called ‘wellow® | “yellow® ig called *water’ and
water is called 'Pink’ then what is the color of clear sky?

afg ‘g FY B FE N, B F e Fer e, e
I+ HTHTIT Tl AT, HHI I OIer el 10, ey &t
"UTAY gl ST A a1+ T TIeET HET AT Al /T
HTRTRT T TaT 34T 191

B} water / aret

D) Blue /#rar

A) wellow ( drer
O sky 3T
37) A piece of paper is folded and cut as shown below i the

question figures. From the given answer figures, indicate how
it will appear when opened.

A v s Tat & T HEEE ST A F
FIE= T B & a8 9¢ Fhd 3eat angla St ieang

uX:ﬂ o o A° | °Q[§D
| De q'i’ ﬂwn DD:OE.- | % W
'.a?é B) ] D)

38) If the words are organised in reverse order of what they
appear in dictionary, which word will come in the third place.

Ife srset it & org o7 & Useahiw 3T & 30U v FH
7 srateya e ame a Sl T 9T i 6 9
I

l A) Beeulist B) Odium
Kj *_\ | i 2 % G) Odious D) Ordeum
A B (] T
SE201S F 3749329 5 P.T.O



Part A General inteligence and Reasoning/ 57 F: ST g 07 aHuiao

Directions / fder: In Question nos. / ¥¥7 F&JT39 to 40, which
answer figure will complete the patfern in the question
figure?

FleT T IeaaT HTHEIT TOT HTE A F sy F G4 FH?

39)

)

Al B) ¢ D

40)

Directions / fdwr: In Question nos. / ¥o7 H&GAT 41to 42,
identify the diagram thal best represents the relationship
among classes given below:

T IR T Fiad St e laiaT Ao & &t gaifis
Hatr &t aeiiar @

41} Vegetables, Potatoes, Eatables
wiesar , 3w, Wey vemy|

@169

F
\

(@ }
BT"

43) Veena and Veeru both start from a point towards Morth.
Veena turns to left after walking 10 Km. Veeru turns to right
after walking the same distance, Veena waits for some lime
and then walks another 5 Km. Whereas Yeeru walks only 3
Km. They both then retumn towards south and walk 13 Km. |
forward, How far is Veena from Veeru?,

et 3t 3w St v T/ Ieat e F g 4F S
& e 10 TR, mrerer & a1g and {52 sl ) O o s
Tela & a1E e HE AT ) S o AT & BT ward
3 iR 5 et aite warch ) Sefer v a3 Tt
Tere ) T & 2T afavor e # atea £ 315 [,

ord & e dre O o gr e
A} yokm., / e, B) jokm./ fFfr
€) §km. /el D) 15Km. / fe.

44) find the missing number?
o TET AT FfAv]
2.5.10,17,26, 2

A) 6
c) 37

B) 49
D) 47

45) To identify the correct response from the given premises
stated according to following symbols .

i@ vt & e Be v s & agr
Ioak e e
*A’ stands for not less than {‘f }
war 3 ¥ wA Agr § (9
‘B stands for not equal to ()
‘B @ HY F S A ¥ (=)
HC7 stands for not greater than {}'}
‘CF Y F g7 A E ()
‘D stands for greater than(>)
‘DE I F STy ()
‘E’ stands for less than (<)
BRI R AEA R (<)
*F* stands for equal to (=)
P A EET (=)
Premises / U 4YF3x and / HIT 3xF6Z

=
] X} 2YF32Z B) 4YBSZ
42) Christians , Catholics, Pope C) 2Y D3 S D) 2YE3Z
TS, e, 9
ain Cﬂ?\ i
e [
/||
A) B) C) D)
SRIU5 1 3140400 2] P.TO



Part A: Ganeral intefigance and Reasening / 577 & TR gigmm d sids

46) Ravi is walking in the East direction, Afler covering a
distance of one kilometer, he turns 45° left and then 907
right. In which direction is he now?

R RwmA T vw Fh frghaa s Fag
aF 45° a0 AZar & 3T T 000 el HEAT R s AT EE
i ag

A) North / 3eaT B} west/ offem
C) North West / Feara®@a® D) North East / oo g

47) Which of the following jumbled words is not an animal?

| ST yeaaftua el # € i a1 vsg Seac gt |

&
A) LATHPEEN B) TICRECK
¢ FEFEOC D) TAR

48) Arrange the following words as per order in the dictionary .

AT el &1 oreg ey & B 710 F7 & 3ga

Goci

{1Hale (2)Hake (3)Halt (4)Ham ot (5)Ham
A) 1,3,5 2,4 B 2,1,3,54
C} 2,1.43.5 D) 2,354,

49) If‘1_‘ m_e-ans_‘x’ "= means '+, ‘X’ means ‘=" and *+' means
*+°, then what will be the value of 16+64—8x4+2 7
AR O H AW o F, W A W AR
HT ‘& F A+ E T 16+-64-8xd+2 H Hi= T
B
a) 12 B) 24
c 16 D) 18

50) From the given alternative words, select the word which
cannot be formed using the letters of the given word.

TR Rectddar e g ik v s &

eI T T FY TATIT Ak AT el o]
'BOOKBINDING'
A) DONDING B) DOING
C) DIGGING D} DINING

BR2015 4 3149328
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Fayt B: Ganeral Awaranass S ¥ 0 FTRT s

L it taerz st

Part B: General Awareness
HIT W WA SISl

51) A Computer executes Programs in the sequence of :

e TH FA F NOA & Fvaa w1 E

A) Decode, Fetch, Execute  B) Execute, Feich, Decode

C) Fetch, Decode, Execute D) Store, Fewch, Execute
2R, U, Tt

52) What is ‘Reformation’?
‘g F41 § 7
A) Revival of classical B) The revolt against
learning / FRATATEA® authority of pope / 99 &
T & g g wies & TEerw ee
C) Rise of absolute monarchy D) Change in attitude of man
/9T UFET w3 | AT & HTAW THaEl

# oftade

53) Which of the following particles has the dual nature of

particle- wave 7
et e Foit @ Fofa-ater & fawgfa w2
T B2

A) Meutron / Fqgi'?r
C) Meson / HraiaT

B) Ejectron / seeetA
D) Proton / W2t

54) SIDBI Stands for :
o g & & A awe uoE §

A) Small Indusiries B) Small Indusirial Designed

56) Swaraj is my Birth Right and 1 shall have it, This was
advocated by: :

TaTs AU SN Mg AfeR § i A @ w A @
|z TR anr un

A) Mahatma Gandhi B) Lal Lajpat Rai

HETeHT T CIGIR=IE e i ]
C) Sardar Patel D) Lokmanya Tilak
TFER 9ed Ay Wee

57) Which of the following is called the Light house of the
Mediterrancan?

EraEe § ¥ Y ey R 1 OiSe g5y
Fed € |

A) Stromboli of sicily
THEeT &1 FErEe

B) Mount pelee of West
Indies

afves i wap &7
5T drelr
C) Paracutin of Mexico D} Vesuvius of Italy

Afarmerl F1 SR sedr = faglaay

58) Who of the following has given the term rhizosphere:
TESERT eg FEfaigd & @ R e

A) Alexopolus / derraderm B) Garet/ M
C) Mone ofthe givenoptions D) e ) frmeate

13 # & W A

59) Which one among the following industries is the maximum
consumer of water in India 7

TRaaY & Feeatan R se & o f @ea
e HEE g 87

Developmental Banker Bank of India { €T A) Textile B) Engineering
Institute / TAT sefEza Bomee . FsT IoANT kN e NEERS
: " : C) Paper and Pulp D) Thermal Power
- 3w gfosar FETH FUT T uHe it

C) Small Innovations D} Small Industries
Development Banker' s Development Bank of
Institute / FATH India | FATE SSEEIT
Zeata e SAEUAT gmgde 8% 3%

55) The metal ion present in vitamin B121s ;
fareTtae B12 F #i U 3 IuTRua W g
A) nickel ( FERH B) cobalt) FrEreT
C) iron / FrE D) ine/ Tl
BRe015 /| 3149329 8 P10




Part B: General Awarenass / M9 &0 ST JTASRT

69) Microbial degradation of nitrates into atmespheric nitrogen is
known as:

AT AEcee ¥ far Al geReidrr
faues g8 FEaar &

A} Ammonification B) Denitrification

FETRETERoy T
C) Putrefacation D) Nitrification
TR AL

70) Which of the following is in the ascending order of Data

hierarchy ?

frafafaa & s o1 e TR F1 RE 77

75} Pulses are obtained from the family: *

gt 9IeH & 5H T # e B #
A) Liliaceae B) Fungi
[ECLE:) TR
C) Cycadaccac D) Leguminosas
TSHE Errici)

76) Who was the Indian women president of the United Nations

(Feneral Assembly 7
HFA TvE AT THT AT Ggeil AfgaT AT HCqET

wie @7

A) Margret Thaicher B} Golda Mayer

g AR e TiteaT AUT
A} Bil - Byte - Record - Field B) Byle - Bit -File - Record - C) Sarojini Naidu D} Vijaya Lakshmi Pandit
- Database - F”E._. Database - Field . " AR fasrar =eFT ufes
- BT - TS . ErEAg - fie= 77) The one rupee note bears the signature of ;
C) Bit - Byte - Field - Record D) Field - Byte - Bit - Record UF F98 F Ale W HEh geanEn g &7
- File - Database } - File - Database ) A) Govemor, Reserve Bank  B) None of these
fac.age - Fes- Rt fies-ase -fae - s of India =t A At
- IS - SIETEE - TS - SCEH g &% e s &
ilch breed in th dis:
) T_hn A L C) Finance Minister D) Secretary, Ministry of
HHR Hr Ha oo H GIoar 795 & Syeop ¥y Finance
A) Deoni B) Holstein - Frigsian e Awg & e
£ glerere wrafaraa ¥
C) Sindhi. D) Chittagong — — =
(F=1318 fayzaifar 78) What is the currency of Saudi Arabia?
wdr sifaar 1 mgr = 7
72) In which year was the Indian National Congress formed: )
Pl S S e A) Riyal / R B) pound/urss
. C} Lira/ D} Di !
A) 1901 B) 1835 ira / T inar | VT
€) 25 D) 1583 79) Reserve Bank of India was nationalised in:
73) Bangladesh was created in- Trord e o eSO 36 a9 Fa-
HTEAT 2T Y TUTTAT 57 a9 §5- A) 195] B) 1947
A) 1973 B) 1970 G 18 L TE
G e L 80) Which among the following is a folk dance of India.
74) Raja Ram Mohan Roy was the founder of: fFrafaf@s & & Hi @1 HA diFacT 7
FHE EEYUTIS TAT T Alged 7 2 A) Kathakali B) Mohiniattam
A} Brahmo Samaj B) Prathna Samaj FUEHA AT
MW TR AT C] Maﬂi.purin D} Crarba
C) Ram Krishna Mission D) Arya Samaj wforgdr T
THFOT AT 3T S
SH20156/ 3149328 10 FT.0



Part B Genoral Awansness / M & SR SRR

81) NABARD stands for - « —86) Day and Night are equal at the :
AT AT (FrES) sua Aaw § el 9T RA a9 aa o FAE g §
A) National business for B) MNational Bank for ; A} Prime Meridian B) Poles
accounting and Reviewing agriculture and rural THE A ug
e ReEE w1 © development/ AATT 4R | ) Equator D) Antarctic
5 . ; B7) Economic profit or normal profit is the same as
C) Mational Bank for D} Wational burean for air
aeronautics and radar and road transport / il w3 Y FHAT A FH T H FI O
development / FAH #o HUAA AT PIT THT . ¥ §
PR R il s 1B ¢ A) accounting profit / S&T B) eptimu profit/
e
B 3aa9dT ——— SeARercTH
o C) D) maximum profit /
82) Surplus budget is recommended during : ey prabik/ e e ST T
ok et gt fr Feghy fr o 8
88B) Evergreen type Forests are found in:
A . B .
) Depression / Hal F ) Boom /ST F S TR e & e gt o e
” T o A) Mediterranean region B) Monsoon climatic area
[ i ;
War / T& &Id & gie Famines | 37T & 2R s aEET BT FieTEs S 8
=t i D) Eguatorial regi
83) Who was the first Speaker of the Lok - Sabha; i Dm;;egm § Bathmen mﬂ
e |HT & WaH HuaeT 3 i
A) BR. Ambediat E'j G. V. Mavalankar 89) The gene which exhibits multiple effects is known as:
. 3. 3T it & At e 3 ag wEt # e w & ag Fean &
C} N Sapjr:ev Reddy D} Dr. 5.P. Mukerjee A) Pleiotropic B) Pscudogene
T, Hoatrar =8 =1, v bt FEet e o ke ]
X = 1 C L
84) What is the plural voting system ? c PE' lygene el Emp]r:men S
T AU o7 Far § | o
A) All the citizens caste three  B)  Eligible voter exercises 90) The ash-grey soils of high-latitude coniferous forests are
vaotes each. one vote and some volers known as:
| AT 3T with specific qualifications T ST (T HeT F ITd HETH & WIS & I SH A 8 o
cast more than one vote. il
HeT i AT o B ofia d@ex v g Ear :
¥ our g YW A) Grey—j:;;m soils B) Redand ‘ﬁ:l‘!;;w soils
) qET Har GIEEGE AT
a;ﬁa:?; o C) Tundra soils D) Podsols
aﬁm | v
g HaT qizHed
C)} Only the higher officials D} Candidates themselves
caste more than one votes. caste more than one vote, 91) Radio activiﬁ.-' was discovered by:
aﬁﬁ;:ﬁr e & weanely mw;# e e B wie s eaRT B
s ¥ HEw I it die
) A E i A Curie f Fg0 B) Becqueral / dragter
85) Which of the following plant shows chloroplast dimorphism? G} Soddy / TH D) Rutherford / TETHE
frrfaf@a & sl & aey FEcaEe ZEATheH
wefia FYar 87
Al Sugarcane [ Il B Sugar beel / TEFCT
C) Rice/ T D) Wheat 1 %

SK2015 ] 3140329 T PT.O



Panl B: Ganaral Awsreness / NUT B Fene= =T

92) Muddy water is treated with alum in purification process, itis  97) Best way to conserve our water resources:

termed as: et waruAt F Tel & wEd e ol b
o i uiEgr & g o = e el o

_ A) Al of the options B) Encouragement of natural
o @ T WheaT FT Fgandr g7 mentioned here, regeneration of vegetation
A) absorption B} adsorption AR H 7@ HigpTcieh deedic &l
Fariror Jrfereior QAN T SIeHTeeT
C) coagulation D) cmulsification w7
TG IR IOT EFATHEHIOT C) Sustainable water D) Rain water harvesting
- utilization 4T & Tl T HAEOT
93) An enzyme produced by HIV that allows the integration of Had FeT STAIET

HIV DNA into the host cell™s DNA is
Tg e ar CHRT Irdee UABH & o 9t e 8B) Constitutional Monarchy means :
% oA & o toand F fvar & ety wfaenfae Tadr & 79

T & A) TheKing is elected by the B) The King interprets the
. people constitution
A} DNA gyrase B) Ligase ;
AT T IGLE) PSS-S FH ST ST
C) Integrase D} Helicase AT ST T Fta
oo ACC C) The King writes the D) The King exercises power
constitution as granted by constitution
94) Votingis : AT EFRT AU H HIFU @R e
AATOFER U G TIAT FHTA feh & IFEN ol F
A) The unit of area who B) The process by which e el &t wEeT
constitute a unit for volers excreise their right
electing representative. to vote, 99) What is popular sovereignty?
dic &t gy WA & a7 e T Ga TR T #47 ¢ ?
oo a7 i z=8 & g 39T dE & & A) Sovercignty of the legal — B) Sovereignty of the head of
FET AT B HOHR H G FGT head / FAfEr o a7 state /| 719 & ofrd &7
C) The process of selecting D) Universal adult franchise. C) Sovereignty of the people/ D) Sovereignty of peoples
representatives AI=O9F diE, AT & WHea representative / Sleloll &
offad & =T W e | I
uw gfear |

100) Granite, quartzite areas have upstanding look because

95) The two specific heats of gases are refated by : IET, FAESTET 8 T §9 YeltE #ig ¥ wits
At & o AT a9 36F g T &

A} not easily wom down B} these rocks are resistant to
A) Cp/Cv=R B) Cp-Cv=RI Fmaeh & P 78 ¥ all kinds of erosion
Cr! CF—CV‘R.I"J D} Cp+CV=FU ﬁmﬁwﬂ;
96) Who initiated the movement to form the Indian National Hes & ufe g
Congress: ]|
NI TSET R & Tael Tatll Hiec iofed &l fehdet C) these rocks are not easily D) mechanically weathered
W‘Hﬁ' eroded faster
2\ wien B) A0/ gl HEET A [ i ¥4 & do &
nmie Besant L0 Hume
e wsie i SRICT N 3
C) W.C. Banerjee D) Gandhi ji
gee, HF, FeTan ey S

SK2015 /3148320 12 PT.O



Part & Quantitative Apitude / BT 7 ORwmmess NEwT

R i E AW TR dE Ry

Part C: Quantitative Aptitude
31 ) P e [ O A SR

101) Let Cl and C2 be the inseribed and circumscribed circles of

a triangle with sides 3em, 4cm and Sem then

areaof Cl is
area of C2

A o F C1 3R c2vw BYa F daga Ak ofiga

§ G spend s, 493 it saah # o
ClL& g% &

C2 &7 E9hH
A) 9 B) &
16 25
C) 4 D) 16
25 25

102) ¢/ gfrx = |

{2+
then(x + | Jequalsto /@ (x + | ) FFEH T -
A) 2 B) 42 -1
C) 2 +1 D) {2

104) If the expenditure on education is T1600 mare than that of

housing then the expenditure on food is:
of firen o7 @d =FE wd F T1600 0 & A siew

ad #-

A) 6000
C) 7000

B) 12000
D) 3333

105) The ratio of expenditure on food to savings is:

sitaer we AT F= = OyET -

| B) 3:1
22 D) 10:9

(P I O |

A)
c) :

106) The average marks obtained by a student in 6 subjects is &8,
On subsequent verification it was found that the marks
obtained by him in a subject was wrongly copied as 86
instead of 68. The correct average of the marks obtained by
him is-
forelr faamedt &1 6 fawt & v ge Atwa 3 88
¥ &g # FeuIe FA ¥ UE 9 94 F v Rwy
# IEF 3F T e ¥ 68 F TUA W 86 Prw
e | 3/ wied SE W ' e &

A) &5 B) 87
C) =4 D) 8

Directions / fA2r: In Question nos., / ¥54 T&IT103to 105, The

pie-chart given here shows expenditure incurred by a
family on various items and their savings. Study the chart
and answer the guestions based on fhe pie-chart

597 9T & 3 v IRER ganT RffeT gat v R amr ae
File 37T aaeT F geiar a4 ) G T Hewwa &t AT
qré- e g AR 5 &1 3eaw &

EDUCATION

LoTH/ HOUSHG
T a;’ BT

103) If the monthly income is T36000 then the yearly savings is:
fix @A 3y TI6000 ¥ o oS gua §-

Directions / f@&w: In Question nos. / ¥77 &&IT 107 to 110,

@iven here a multiple bar diagram of the scores of four
players in two innings. Study the diagram and answer the
guestions.

Z@t g [@eneat # gt eifiaf & &= i a5 are-arw Bar
TT ) IR 7 HETTA F HN v 7 a7 d)

O 1st Innings
100 e-mmmmnne- L 1 e
Ol e E2nd Innings |- -cooeooo-
B 6 LR 17 R
e e e
g IR R ) S ——
R HNR ) SO —
< 40 1-
g 30 4-| Bt---l B}--c] Fo-ee
204+ BR--- Bl-e{ fesers -
10 4-
ﬂ racH . A
Mlabendra Wit KEohli  Cheteshwar Shikbar
Zingh Dboni BT =gk Pujurs Dibwwrass
s P ok timy e Mo Gw=

107} The average run of two innings of the player who scored
highest in average is:

2t ofidt & Ieaas Mad = WS S arel e &

_ﬁu] T72000 B) o000 T = &
C) 74000 D) TT0000 &
A) 75 B} 85
C) 80 D) 70
SK2018 / 3149329 13 P.T.O




Past £ Quantitative Aplitude / S - affmemzsre aiEs

108) The average run in two innings of the player who has scored  115) If the three angles of a triangle are:

minimum at the second innings is:

2@l ol ¥ TaW FA R e e g TEEEr & £
ofat & st = B
A) 'S0
C) 44

B) 60
D) 30

players is:

EFAr Ol & Tt TEwiRdt & sitaa = g
A) 30 B) &0
c) 40 D) 50

110) The total scores in the first innings contributed by the four !
players is:
agelt grir # =t et ganr Bee e o g

=i &
A) 220 B) 200
c) 210 D) 190

111) If the volume of a sphere is numerically equal to its surface
area then its diameter is:

oiE v AEE F HGTT TEAHE 9 d IO AT
§FE & FUET & O 3Aer = b

A} d4cm
C) 3em

B) 2cm
D) Gem

112) A train runs at an average speed of 75 km/hr. If the distance
to be covered is 1050 kms. How long will the train take to 44
cover it?

o Yoo 75 Fah, Wy e i e R & g §
A% 3% 1050 Frafr e mw seh t A ww wwoh A
fhas 9w # aa FE?

A) |3hrs/EE
C) 14 hrs/E

B) 12hes/uE
D} 15 bhes/EE

113) G is the centroid of AABC. The medians AD and BE
intersect at right angles. If the lengths of AD and BE are 9
em and 12 cm respectively; then the length of AB (in cm) is?

G AABC 77 FeuF ¥ sz AD # BE FHw00r F7
Wit #ar £ O AD 3T BE & e & O mon

T 12 A B oar AB &y wed (B #) Reeeh g
A) 10 B) 105
C) 9.5 D) 11

114) The minimum value of 28in2@ + 3Cos26 is
2526 + 3Cos20 F FYATH A §-

A) 1 B) 3
c) 2 D) 4

A) scalene / oy o
C) right angled /TAmefm D) cquilateral / wEeTE

A) 4
c) |

A) 1875m
C) 1025m

A) 12em?
C) 4643 em?2

A) T400
C) 800

gfr v Fya & dm For §
(x + 15%), (6x + 67 and (21 + 30%)
i 3

then the triangle is: / @ fraar &
B) isoesceles | FRGEAETE

116) If the number of vertices, edges and faces of a rectangular

parallelopiped are denoted by v, € and f respectively, the
value of (v - e + f) is

oft freh woaoe wHiaT 9T wem & ol @7 s
Famat & T F FAME v, e MY fegnT i R
FETE A (v-etF A &

B) 2

D) 0

117) 5 persons will live in a tent. If each person requires 16m? of

floor area and 100m® space for air then the height of the cone
of smallest size to accomodate these persons would be?

SenfEda oF ter & @ o e =Fe # 16m? i
&5 ¥ ag & BT 100m?® & Feauw ¥ wETsar & ar
3 wfFaat w1 IFA SO & & v agaA e & 9w
o FaE T g

B) 16m
D) 20m

8) If the altitude of an equilateral triangle is 1243 em, then its

area would be:
ofe v TAEE NS @ eideee 1243 @ ¥ A e
grwe fRaar greme

B) 72cm?
D) 144 43 cm?

119) The difference between successive discounts of 40%

followed by 30 and 45% followed by 208 on the marked
price of an article is ¥12. The marked price of the article is:

Tl avg & AT =FT 97 40% 3T 91 0% T
45%, 64 @15 20% =1 Irollcod B § e T12 B 3W@
g F T AFw b

B) %200

D) 600

SKZ2015/3748329 14
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Part 0 Quantitaiive Aptlude / 5T T TRieromrae s

120) The area of the triangle formed by the graphs of the 126) A's 2 days work is equal to B's 3 days work, IT A can

equations x =0, 2x + Iy =Gandx +y =13 is: complete the work in 8 days then to complete the work B will
x=0,2x + 3y = 6 HT x +y=3 WA TH T T take: _ -
AT F1 O90F &- A @7 2 feET Eﬁ?ﬁ‘cﬁ FET g
A) 3 ok B 4 ARy AW F @ 8 feAl & Fvar | S g A7 B
sl t J. ; i
sq. unit / 597 §fE z_squmt.n'aﬂzﬂf"r‘it B Gt # w2
C) 1 sq, unit/ == 3o D) 4 1 sq unit/= g A) 14 days/ Tem B) 15 days/ o
2 C) 16 daysifem D) 12 days/ &=
121) Among the gquut[nng- [ TR 127) If the measure of three angles of a triangle are in
x4+ 2y +9=0;5x-4=0;2y-13=0;2x -3y =0, the ratio 2 : 3 : 5, then the triangle 15:
the equation of the straight line passing through origin is- uf frfer figs & 9 o & oAy 2:3:8 Heg T H R
A % A fig & o are H WO AT § A ag T &
A) 2x-3y=0 B) Sx-4=0 .
c; xﬁ+ 2$+9=n n; 2y-13=0 A) cquilateral / GHaTs B) isucsceles/ FHaRaTs

: — - C} Obtusc angled / Jrferrofa D) right angled / EF=ofrg
122) The HCF of x® - | and x* + 2x*- 2x - | is:

WB_ | 3T x4+ 2%% - 2x - | T FEAH TATTEAS B- 428) What must be added to cach term of the ratio 2 5sothat it

may equal to 5 : 67

A) ¥+1 B) x+1 25 yeuTa & i g% & O Sy @ e e g
C) x2-1 D) x-1 516 % =T Y F?
123) The least number which when divided by 6, 9, 12, 15, 18 | A} 12 B) 74

leaves the same remainder 2 in each case is: C) 65 D) 13

aF WEAH e fSEen 6,9, 12, 15, 183 fanfaa we W .

SEAF AR A RS 2 W 129) I the sum and difference of two angles _gﬂ:_ﬂfg radian and
A) 178 B) 182 36° respectively, then the value of smaller angle in d:g,;l:e
C) 176 D) 180 taking the value of I1 as 22f7 is:

= == - 22
124) Internal bisectors of £Q and R of APQR intersect at Q. If af @ it @ 2T 3 i s ©f W AR 36°

£ROQ = 96° then the value of ZRPQ is: ¢ 3k afx 11 @ e 227 o A e @ @
APQRF £Q 3R LR ¥ HIEREF ZR#HH 0 W ey 3 a7t ¢-
T = 96°
gfaede ST # I LROQ = 96° ¥ A LRPQ & A) 60° B) 45°
m g’_ c} 520 D] 563
A) 170 B) 6°

c) 36° D) 247 130) 4 men and 6 women complete a work in & days, 2 men and 9
women also complete in 8 days. The number of days 18
women complete the work is:

125) A certain sum will amount to 12,100 in 2 years at 10% per )
annum of compound interest, interest being compounded o 4 o9 Y 6 R B FE H 8 R F o

annually. The sum is- ¥ 2 gew v o Towwl of 39 8 AT A o w40 B A7 18
v U7 e saw aftes ¥9 @ Fs @ & 10% 9 Feqwi 38 @ # fhae At #F o e
a% Twaer waTst o 2 ant # 12,100 g Fvef @ Ui A 4 2 days B) 5 2 days
& 3 3
A) 12000 B) %6000 C) 4 1 days D) 51 days
C) ZRO00 D) %10000 3 3

SK2015 [ 3145329 15 P.T.0



Part C: Quontitalive Aplilude/ 097 7 SREVTE Rse

13) 1/ afex =32 +1=7

x'lﬂ
then the value of / AT BT S AT -
x7e 4]
xﬂ-ﬂ-
A) 432 B) 433
C) 343 D) 322

132) fr) 2y 5x + 9y = 5 and 125x% + 729y* = 120
then the value of the product of x and yis /aF x AR v &

AR F A & ]

A) 135 B4
135
C) 1 D) 45
9

1§3} If 4 men or 8 women can do-a piece of work in 15 days, in
how many days can 6 men and 12 women do the same piece
of work?

ofe 4 gaw Hyar 8 feaal Bl & & 15 e & &
wwer ¢ & 6 9o i 12 et i & #r e e A
L TS B7

A 45 days/fam
C) 15 days/TgT

B) 20 days/e=m
D) 30 daysfew

134) The value of 3in®22% + Sin?68% + Cen®307 is
Sin®22° + Sin%68" + Cot?30° F7 H=1 #-

m% By 4
C) 5 D) 3
4

135) Find x simp‘J'e discount equivalent to a discount series of
10%, 20% and 25%

10%, 20% HIT 25% @ 49T & JoT "N 5 7
-

A) 45%
C) 52%

B} 55%
D) 46%

136) If @ be acute angle and tan{ 48 - 509) = cot(50°%- @), then
the value of @ in degrees is

it @ 7gs7 For & T tan( 40 - 50% = cot(50% @), Far
@ﬁ@ﬂﬁ'ﬂmﬁ:

137) Cost price of 100 books is equal to the selling price of 60
books. The gain or loss percentage will be:

100 GEFHT T AT Hrd 60 95 dH & %9 Feg &
FET &) @ rvaEr @e Fr afterrar Reosht gefe

Al 88 2 % B) 66 1 %
3 4
C) 66% D) 66 3 %
4
138) 1r / afy ssin@ 3, the numerical wvalue of
FHYFIOT T HEITOHE AT B
Sect) - Tan®
Sec® + Tan®
A) 1 B) 1
il 2
c) l D) 1
4 5

139) If 3f4 of a number is 7 more than'.l"ﬁ of the number, then 5!'[3
of the number is:
ot i der # fysuwdsw & gw TR kA
T W & O[3

A) 15
c) 12

B) 18
Dy 20
1&-0] What is the arithmetic mean of first 20 odd natural numbers?
wu 20 faws wpios dEwat &1 gHiay Anea Faw e
A) 17 B) 19
C) 22 Dy 20
141) A kite is flying at the height of 75m from the ground. The
string makes an angle ©@ { where Cot® = a.l"Ts 1 with the

level ground. Assuming that there is no slack in the string,
the length of the string is equal to:

wEF gEe HiE W 75ET. # FurE 9r 33 1@ &) Iudr ah
HE & TR & @ wvr @ W Hawd coo= YHis
w1 o o o F B & A & ar 5 B ok R
s

A} Tim
C) 40m

B) #m
D) 65m

142) If a person travels from a point L towards east for 12 km and

then travels Skm towards north and reaches a point M, then
shortest distance from L to M is:

g ;g E; ig af v wafEy fig L @ of 9 % 12809 sk R
' ey @ 3 SRR A wET & 3T Rig M oy g &
L AM e g b
A) 14 B) 12
c) 17 D) 13
SKZ0TS F 3149329 18 P.T.O




Part & Cantitafive Apiilde 0 a1 oRemoieRs i@

143) In an examination, a student must get 36% marks to pass. A 150}

student who gets 190 marks failed by 35 ma
marks in that examination is:

Sreht i 3 SEA £ & PR v A A 36% 3
FAey wIeT &9 A1TEv| 190 ¥F 9T F A U
faaamedt 35 3T @ e & | 3H Then & gl §

A) 500 B) 625
C) 8i0 D) 450

ris;s_ The total

144) A train 180 mts long is running at a speed of 90 km/h. How
long will it take to pass a post?
o 180, o TEAmE 90 Hr A, wfar gor £ afF F 99

& o dE A e A 3 B awg die

B) 7.8 secs /¥
D) 7.2 secs /.

A) 52 secs/ .
C) Bsecs/A

145) An article which is marked at 2975 is sold for 897. The %
discount is?

£975 3T HEg T U TEg @7 1897 F dur S B
we % &7

A) 6%
c) 12%

B) 0%
D) 8%

146) [f Sec® + Tan® =p, (p # 0) then Sec® is equal to
afr Sec® + Tan® =p, (p # 0) & 7 Seco Frud oo 7 &-

Al (p+'p), p=o0 B) 1(p+"p). p=0

2
€ 2(p-p) p#0 B} (p-"p). p2o0
147) 1/ afy p =99 then the value of / @Y Tl &1 A1 §-
plp*+3p+3)

A) 999999
C) 989898

B) 988899
D) 998889

148) 1r) #fr x = 2 then the value of | & il & 7 §-
#3 e 27x% 4+ 243 + 631

A) 1233
) 1321

B) 1231
D) 1211

149) If D, E and F are the mid points of BC, CA and AB
respectively of the AABC then the ratio of area of the
parallelogram DEFB and area of the trapezium CAFD is:

afr AABC & BC,CA X AB % we: 7ew 1&g D, E
3y ¥ o FAER TES DEFB & e 3w
CAFD % 8IFWa &1 31urd @41 §-
B) l:2

A) 1:3
C) 3:4 p) 2:3

A) 36

If A and B are in the ratio 4 1 5 and the difference of their
squares is 81, what is the value of A7

afr A AT B 7 AT 4 - 5 ¥ 3 IF T A AR
2t A & AT e 87

B) 15

C) 45 p) 12

SK2015 / 3145329 17
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Part O English Comprahension/ 51 B JZ=r g

o ok o o o

Part D: English Comprehension
a7 3 R

Directions. In Question nos. 151 to 155, senfences given with
blanks to be filled in with an appropriate word(s). Four
alfemaftives are suggesfed for each question. Choose the
correct alternative out of the four and indicate it by
bfackening the appropriate circle in the Answer Shest.

151) When the morning the murder was

discovered,
A) came B) happened
C) arrived D) occurred

152) The smell of the Sea called _ memories of her

childhood.
A) on B) back
C) up D) for

153) He has the full facts
hiding them.

A} under his sleeves
C)} up his sleeve

but is deliberately

B} upon his sleeves,
D) in his sleeves

154) The appearance of the city _day by day.
A) could change B) changed
C) had changed D) ischanging

155) The police fired on the mab when they

) turned violent
D) fizzled out

A} twmed noisy
C) became abusive

Directions: In Quesflon nos, {56fo 158, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer
Sheat,

‘|Directions: In Question nos. 159 te 163, you have a passage

with 5§ questions following. Read the passages carefully
and choose the best answer lo each question out of the
four alternatives and mark it by blackening the appropiiate
circle in the Answer Sheet,

PASSAGE
True, it is the function of the army to maintain law and order in
abnormal times. But in normal times there is another force that
compels citizens to obey laws and to act with due regard to the
rights of others. The force also protects the lives and properties
of law abiding men. Laws are made to secure the poersonal safety
of its subjects and to prevent murder and crimes of violence,
They are made to secure the property of the citizens against theft
and damage and to profect the rights of communities and castes
to carry out their customs and ceremonies, so long as they do
not conflict with the rights of others. Now the good citizen, of
his own free will obeys these laws and he takes care that
everything he does is done with due regard to the rights and well
being of athers.
But the bad citizen is only restrained from breaking these laws
by fear of the consequence of his actions. And the necessary
steps to compel the bad citizen to acl as a good citizen are taken
by this force. The supreme control of law and order in a State is
in the hands of a Mimster, who is responsible to the State
Assembly and acts through the Inspector General of Police.

159) The expression "customs and ceremonies” means:

A) habits and traditions
C) superstitions and
formalities

B) fairs and festivals
D) usual practices and
religious rites

160) “They are made to secure the properly of citizens
against theft and damage™ means that the law:

B) Initiates process apainst
offenders of law.

A) Safeguards people’s
possessions against
being stolen or lost.

C) Helps in recovering the D) Assists the citizens

stolen property of the whose property has
citizens. been stolen or
destroyed.

161) Which one of the following statement is implied in the

156) BOARD passage?
A) Frame B} Lodging A) The police hardly B) Criminals, who flout
C) Food D) Furniture succeed in converting the law, are seldom
bad citizens into good brought to book.
157) PERUSE anes.
A) Hollow B) Argue C) Peaceful Fitizens D) 'I"Lh.e police check the
GJ Reduce D) Read seldom violate the law. citizens, whether they
are good or bad, from
158) SPUME violating the law.
A} foam B) Lava
C) poison D) spit
SK2015 /3149329 18 FT0O
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162) According to the writer, which one of the following is not
the responsibility of the police?

A) Tocheck violent
activities of citizens,

B To maintain peace
during extracrdinary
circumstances.

D) To ensure peace among
citizens by safeguarding
individual rights.

A¥ To protect the
privileges of all
citizens.

463) Which of the following statements is not implied in the
wassage? :
&) Law protects those who B) A criminal is deterred
respect it from committing crimes
only for fear of the law.
Law ensures people’s
religious and social
rights absolutely and
unconditionally.

C) The forces of law help D)
to transform
irresponsible citizens
into responsible ones.

Directions.: In Question nos. 164 to 173, a sentence / a part of
ihe sentence is underlined. Below are given alfematives (o
the underined part which may improve the sentence.
Choose the correct altemative. In case no improvement s
needed choose “No Improvement”. Mark your answer in
the answer shest.

164) He does not laugh , nor he smiles.

A) nor he does smile
C) neither he does siile

B) Mo Improvement
D) nor does he, smile.

165) 151 will get an opportunity, I shall attend the seminar,

Aj get B) No Improvement
C) shall get D) got
166) The others shook their heads and made vague noises of
approval,
&) nodded B) Mo Improvement

C) turned around D) hung

167) The world is being faced with a crisis

B) facing
D} in front of

A) No Improvement
C) confronted

168} She insisted on she was innocent.

B)
D)

insisted on that
insisted with

A} Mo Improvement
) insisted that
169} She could not help but laugh.

A) but laughing
C) laughter

B
D)

No Improvement
laughing

170) 1 1ok my mother some grapes when she was in hospital.

Ad 11took some grapes for my B) No lmprovement
muother
C) 1 took for my mother some D) [ brought my mother some

171)-We met yesterday, haven't we 7

A) isn'tit 7
) didn't we ?

B} Mo Improvement
D) hadn't we ?

172)Both the teams played the pame fairly.

iB) . No lmprovement
0y played a fair game

. A) played fairly the game.
C) fairly played the game.

473) You must endure what you cannot cure.

#) No Improvement
D) accept

A) suffer
C) prevail

Directions. In Question nos. 174to 176, choose the word
opposite in meaning to the given word and mark it in the
Answer Sheet.

174) VACILLATION

A) inoculation B) relief

C) steadfastness D} remorse
175) Placid

A) dull \B] stormy

C) urgent D) moving
176) Effeminacy

A} manliness B) boorishness

D) attractiveness

C) aggressiveness

Directions- In Question nos. 177 to 181, some pars of the
santences have errors and some are correct. Find out
which part of & sentence has an error and blacken the
circle corresponding to the appropriate correct option, If a
senfence s free from eror, blacken the circle
corresponding to “No Error” option in the Answer Sheet

177) A bird in the tree is worth two in the bush.

B} two in the bush.
D) A bird in the tree

A) Noerror
C) is worth

178) It is not advisable to take heavy luggages while on a
journey.

B) to take heavy luggages
D) MNo error

A) while on a journey.
C) It is not advisable

179) Just outside my house are a playground for school boys
and girls.

A) for school boys and B) are a playground
girls.

C) Noerror D) Just outside my house

EI‘E[?ER Erapes.
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180) He can be a basketball player since he is tall like a 190) =

mule.
A) No error ~ B) He can be
C} heistall like a mule D) a basketball player
since
181) Who do you think | met?
A} Who B) 1 met?
C} Mo error D} do you think

Directions.: In Question nos. 182to 188, out of the four

alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening|

the appropriate circle in the Answer Sheat.

182) Of one’s own free will.

A) wobligatory
C) voluntary

B) mandatory
D) compulsory

183) Qne who runs away from justice or the law.

& Fugitive B) Thief
C) Criminal D} Smuggler
184) One who is skillful. ==
A) disciplined B} different
c) diligent D} dexterous

185) One who is too careless to plap for the future.

B) improvident
D) imprudent

A) impotent
C) impractical

186) A person who deserves all praise.

A) despicable B} detestable

B) Circumlocution
D) Circumlocutien

A) Cimmnlocati_gn
C) Ci rcmiocutinp

Directions. In Question nos. 191 to 195, four alfermalives are
given for the Idiom/Phrase undedined in the sentence.
Choose the alfernative which best expresses the meaning
of the Idiom/Phrase and mark it in the Answer Sheet.

191) Unless you make amends for the loss, nobody is prepared to

CXCUSE Yo,
A) improve B) pay debi
C) confess D} compensate

192) Instead of keeping his promise of helping me with office
work, he just left me high and dry.

B) lefi me in a state of anger.

D} left me alone to do the

A) left me feeling like a fool,
C) left me without a drop of

water, wirk.
193) Amit said to Rekha, “Don’t make a mountain out of a
moichill,”
A) attempt an impossible task B) start looking for molehills
0 mosunkains.
C) create problems D} exaggerate a minor

problem

194) Before the report reached the authority, the media spilled the

A) dropped the charges B} hinted at the
CONSCQUETICEs.
C} revealed the secret D) spilled the content of the
information package,

195) His friend tumed out to be snake in the grass,

C} laudable D) lovable A) cowardly and brutal B) ‘low and mean
C) ahidden enemy D) an unreliable and deceitful
187) One who has long experience. person,
A) expert B) novice n
C) practitioner B) veteran
188) A study of ancient things.
A) Physiology B Archaeology
C) Ethnology D} Zoology
Directions. In Question nos. 189 to 190, four words are given
in each question, cut of which only one word is correctly
spell. Find the correctly spelt word and mark your answer
in the Answer Sheel,
189)
A} DIFFUSSION B) DEFFUSION
C) DIFFUSION D) DEFUSION
SRZ0TE F3148328 20 PT.O
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Directions: In Question nos, 196fo 200, you have a passage
with 5 questions following. Read the passages carefully
and choose the best answer lo each question out of the
four alternatives and mark it by blackening the appropriate
circle in the Answer Sheét,

PASSAGE

Journalists argue over functions of a newspaper. | fecl that a
provineial paper’s purpose is not only to present and project the
news objectively and imaginatively, but to help its readers to
express themselves more  effectively, canalizing their
aspirations, making more articulate their demands. A newspaper
should reflect the community it serves = warts and all. When the
mirror is held to society it reveals neglect, injustice, ignorance
or complacency. 1t should help to eradicate them. It would be
ﬁEtﬂiljnus 1o think that a newspaper can change the course of
world affairs- but at the local limit it can exert influence, it can
probe, it can help get things done. The individual's voice must|

ot e stified, Instead, the readers should be encouraged to)

aT;gress their opinions , lears, hopes, and or their grievances on
this platform.

196) How can the readers air their grievances?

A) By being complacent.  B) By supporting the local

newspaper.
C) By writing to P} By writing to their local
journalists. newspaper.

197) What is the main purpose of a newspaper?

A) Project news B) To present facts in a
ohjectively and blunt way.
imaginatively.

C) Exert influence onthe B Encourage the readers
individuals. to be pretentious.

198) The expression "warts and all" in the passage means.

A) hopes and fears B) the reader’s grievances
C) with no attempt to D) the community’s
conceal blemishes and problems
inadequacies

199) How can a newspaper influence local affairs?

A) E}r probing into the ills  B) By encouraging the

of society and rallying readers to accept their
support for change. grievances.
C) By focusing onworld D) By influencing public
affairs. opinion through half
truths.

200) I this passage the writer highlights the fact that:
A) A newspaper should B) A newspaper should

reflect the community it only concentrate on
SrVEes. local affairs.

C) Journalists differ in D) Mewspaper can
their opinion on the eradicate injustice.
function of a
newspaper.
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